
NON-ZERO ELEMENTS OF THE MATRICES IN EQS. (2) AND (8) 

The following notation is used to express the matrix elements:  Re  is the Reynolds 

number, Pr  is the Prandtl number, eM  is the Mach number at the boundary layer edge 

and γ  is the specific heat ratio.  Additionally, 2( 2 ) /3r e= +  and 2( 1) /3m e= −  where 

0e =  corresponds to the Stokes hypothesis.  ( )sU y , ( )sW y , ( )sT y , and ( )s yµ  are 

mean-flow profiles.  Furthermore, α  is the streamwise wave number, β  is the spanwise 

wave number and p  is the Laplace variable. 
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=  and /s s sd dTµ µ′ = .  ijH  denotes the ( ),i j  element of matrix H . 
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